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Engineer A is a civil engineer who was assigned to investigate a newly constructed building for MDC, it
was constructed with a lesser level of safety and several design flaws, because different engineering

documents than those approved by the municipality were used. Despite being aware of the issue, the
manager of MDC requested an approval from engineer A. Engineer B is an electrical engineer who was

assigned to investigate a newly constructed building for MDC, the construction of the building didn't meet
the municipality's technical standards, because of his lack of knowledge Engineer B couldn't make a
decision. Engineer C is a mechanical engineer who was assigned to investigate a newly constructed

building for MDC, he discovered that the AC system could overheat, and electrical wiring might burn out
because the safety short-circuits turned out to be absent. The manager of MDC told engineer C not to

.report the issue since its a new system


